http://www.learnersgrid.com

Working with Integers: adding, subtracting, dividing, multiplying

a | -7 8
6 | 6| 4| -6
2 | 11| 8 | 12

12 =

6 | -12
answers:

-108 =+

9 | -12
answers:

54 =

-9
answers:




ANSWERS

20 4 0 11 -8 4 -7 7 8 18
-5 15 -1 -5 6 -13 -1 -12 2 13
0 20 4 0 11 -8 4 -7 7 8 18
9 29 13 9 20 1 13 2 16 17 27
-5 -6 -7 -7 -4 -6 -6 -4 -6 -3
-9 -4 -3 -2 -2 -5 -3 -3 -5 -3 -6
-1 4 5 6 6 3 5 5 3 5 2
8 13 14 15 15 12 14 14 12 14 11
X -6 5 1 1 0 -2 -11 -8 12 2
-5 30 -25 -5 -5 0 10 55 40 -60 -10
-1 6 -5 -1 -1 0 2 11 8 -12 -2
6 -36 30 6 6 0 -12 -66 -48 72 12
-8 =+ 12 =
-8 -2 4 3 -6 -12
answers: 1 4 -2 -4 2 1
-30 + -108 =
5 2 -10 -4 -9 -12
answers: -6 -15 3 27 12 9
24 = -54 =
3 -4 -6 6 -9 -2
answers: 8 -6 -4 -9 6 27




